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Time: 10 Minutes Paper English 7 (T-1) Total Marks: 10

3rd Month, 1st Week, 3rd Day

Syllabus: Unit # 5: (Sir, is the problem.... as lung cancer.) Story: Slow and|
Steady Wins the Race.

Q.No.1. Choose the correct options. (€))
1. Which province of Pakistan is mostly effected with smog?

|(a)| Punjab |(b)| Sindh |(c)| Balochistan |(d)| KPK |
2. Sir, is the problem really intense? Identify the kind of the sentence.

|(a)| negative |(b)| imperative |(c)| interrogative |(d)| exclamatory |
3. Which are the peek months for smog?

(a) December and January (b) November and December
(©) January and February (d) November and January
4. The meaning of ""Particle" is:

(a) a chemical element (b) a minute portion of matter
(©) a brain condition (d) a form of air pollution

Read the passage and answer the given questions.

One can calculate the negative impact on the physical health of people due to
smog. Invisible particles penetrate every cell and organ in our bodies causing
acute and chronic diseases including asthma, strokes, heart attacks and dementia.
They can increase the risk of respiratory diseases as well as lung cancer.

5. Which of the following diseases can be caused by smog?

|(a)| heart attack |(b)| dementia |(c)| asthma |(d)| all of these |

6. Smog can be the cause of cancer.
| (a) | breast |(b)| blood | (c) | lung |(d)| kidney |
Q.No.2. Enumerate some negative impact on health due to smog. 2)

Q.No.3. Write a story on the moral of "Slow and steady wins the race." (5)
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